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It was disappointing not to have brought back in the evening some important statement,
some authentic fact. Women are poorer than men because - this or that. Perhaps now it §eL R/
would be better to give up seeking for the truth, and receiving on one’s head an avalanche MI:\rIEI)IIIS-\:Lw
of opinion hot as lava, discoloured as dishwater. It would be better to draw the curtains;
to shut out distractions; to light the lamp; to narrow the enquiry and to ask the historian,
who records not opinions but facts, to describe under what conditions women lived, not
throughout the ages, but in England, say, in the time of Elizabeth.
For itis a perennial puzzle why no woman wrote a word of that extraordinary literature
when every other man, it seemed, was capable of song or sonnet. What were the
conditions in which women lived? | asked myself; for fiction, imaginative work that is,
is not dropped like a pebble upon the ground, as science may be; fiction is like a spider’s
web, attached ever so lightly perhaps, but still attached to life at all four corners. Often
the attachment is scarcely perceptible; Shakespeare’s plays, for instance, seem to hang
there complete by themselves. But when the web is pulled askew, hooked up at the
edge, torn in the middle, one remembers that these webs are not spun in mid-air by
incorporeal creatures, but are the work of suffering human beings, and are attached to
grossly material things, like health and money and the houses we live in.
- Virginia Woolf
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ARG

Write an essay on any ONE of the following in minimum 250 to maximum
300 words. It must exhibit your grasp and critical understanding of the
subject in the best possible individual style having originality of thought
and expression. It must be well-argued piece of writing coherently and
sequentially with observance of grammar rules.

L. How far do you agree that the Sedition Law needs to be changed?
Suggest possible changes.

Il. Express your views on the impacts of extreme automation
turbocharged by the Internet of Things and the Industry 4.0.

lll. National Education Policy - 2020 : Vision and Implementation.
IV. Silence as a way of communication.

V. Do you think that Nuclear War is looming large?

As the Director of BRTS Project in Gujarat, you are to monitor the timely
completion of the project. Write a letter in about 150 words apprising the
Chief Secretary, Government of Gujarat regarding the process achieved by
your team in this direction.

Write a letter in about 150 words, to the editor of the newspaper reporting
the event of inauguration of Madhuban Dam-based Astol regional water
supply project, built at the cost of around INR 586 crore and Nal se Jal
project worth INR 163 crore. The project is aimed at improving water supply
in the region, boosting connectivity and enhancing ease of living.

On June 21st, your university organized an International Conference on the
theme Every man is a builder of a temple called his body. As the organizing
secretary of the conference, write a report of the event in about 150 words.

Carefully study the following graph/bar diagram about Government action
to tame wheat prices, published in the Times of India, Delhi 15th May, 2022
and write a report in about 150 words.

Latest inflation data sparked

action to tame wheat prices

Millers Alleged Traders Were Releasing Grains Only For Around 3 Days

WHY THE GOVERNMENT WAS I-'OIICEDWSTEPIN
whea.tprodudimllﬂytoﬁ
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Gujarat International Financial Tec (GIFT) city project is to be inaugurated in
Ahmedabad. Draft an inaugural speech in about 150 words to be delivered
on this occasion by the Prime Minister of India.

Write a précis of the following passage in about one-third of its original
length.

If you ever go to Kanyakumari, remember to pay a visit to the Vivekananda
Rock Memorial, which is a monument of great historical significance.
The memorial stands tall and majestic on the island rock projecting from
the ever-turbulent sea waters. It is a wonderful structure constructed in
memory of Swami Vivekananda’s arrival in Kanyakumari. The great saint
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and philosopher and icon of the Indian youth Swami Vivekananda visited
Kanyakumari in 1892. He stayed on one of the two natural rock projections
and meditated deeply before he left for United States to participate in the
Parliament of World’s Religions. The memorial which is an initiative of the
Vivekananda Memorial Trust, came into existence in 1970. It is today the
one of the most visited tourist spots thronged by visitors from all over the
world. The memorial is not only a historically prominent landmark, but it is
also an architectural wonder. A true Sanyasi’s realization was far above the
religion and it was Nation first. In 1962, the people of Kanyakumari formed
a Kanyakumari committee to build a memorial to Swami Vivekananda
on the rock where he meditated. There were many obstacles against the
construction of rock memorial. But in spite of all those, Shri Eknath Ranadhe
succeeded in constructing the Vivekananda Rock Memorial with the funds
from public, State Governments and Central Government. Kanyakumari is
well-connected with almost all the major cities of Southern India and getting
there is quiet easy. One can choose any mode of transportation - rail, road
or air according to own preferences. Kanyakumari has a railway station and
it is only 1.2 Km from rock memorial Ferry service. The nearest airport is in
Thiruvananthapuram, capital of Kerala, which is at a distance of 86 Km from
Kanyakumari. It is also connected with excellent network of roadways.
(299 words)

Read the following passage carefully and answer the questions that
follow: (15x1=15)

After inventing dynamite, Swedish-born Alfred Nobel became a very rich
man. However, he foresaw its universally destructive powers too late. Nobel
preferred not to be remembered as the inventor of dynamite, so in 1895, just
before a few years of his death, he created a fund to be used for awarding
prizes to people who had made worthwhile contributions to humanity.
Originally there were five awards: Literature, Physics, Chemistry, Medicine
and Peace. Economics was added in 1968, just sixty-seven years after the
first awards ceremony.

Nobel’s original legacy of nine million dollars was invested, and the interest
on this sum is used for the awards which vary from $ 30,000 to $ 125,000.

Every year on December 10, the anniversary of Nobel’s death, the awards
(Gold Medal, llluminated Diploma and Money) are presented to the winners.
Sometimes politics plays an important role in the judges’ decisions.
Americans have won numerous science awards, but relatively few literature
prizes.

No awards were presented from 1940 to 1942 at the beginning of
World War Il. Some people have won two prizes, but this is rare: others have
shared their prizes.
Questions:
1. The Nobel Prize was established in order to:

A. recognize worthwhile contribution to mankind

B. resolve political differences

C. honour the inventor of dynamite.

D. spend money
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It implied that Nobel’s profession was in:
A. Literature

B. Medicine

C. Economics

D. Science

In sentence 3, ‘worthwhile’ is closest in meaning to:
A. economic

B. prestigious

C. trivial

D. valuable

In how many fields are prizes bestowed?
A 2
B. 5
C. 6
D.7

All of the following statements are true EXCEPT:

A. Alfred Nobel became rich when he invented dynamite.
B. Alfred Nobel created awards in six categories.

C. Alfred Nobel left all his money for a noble cause.

D. Alfred Nobel made a great contribution to humanity.

Who invented dynamite?
How is the money required for Nobel awards managed?
When was the awards presentation ceremony disrupted?

What are the Nobel awardees presented with?

. Is the selection process for Nobel awards fair and transparent?

. Who have received most of the awards in science?

. Which contribution of his did Nobel not want to be known for?

. What has been done with the money originally donated by Nobel?
. Find synonym to “predicted” in the passage.

. Find an antonym for “frequent” in the passage.
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Do as directed: (20 x 1 = 20)
Choose the correct answer from the given option and darken ( @ ) the circle

and also write the correct answer in the bracket (CAPITAL LETTER) as per
sample given below:

Sample Ans.: (C) (A) O (B) O C) o (D) O (E) O
1. ninth chapter of the book is very interesting. This is
best book of elementary chemistry. (Fill in the blank with appropriate
article)
A. The, the
B. The, a
C. A, the
D. A a
E. None of the above
2. seat was taken. Five boys were seated on bench.
Fill in the blank with appropriate adjectives)
A. Each, every
B. Even, all
C. Every, each
D. Each, each
E. Every, every
3. Identify the correct option conveying positive meaning and is opposed
to none.
A. Few words in earnest will convince him. Few Parsees write Avestan
correctly.
B. A Few words in earnest will convince him. A Few Parsees write
Avestan correctly.
C. The Fewer words in earnest will convince him. The Fewer Parsees
write Avestan correctly.
D. The Fewest words in earnest will convince him. The Fewest
Parsees write Avestan correctly.
E. The fewer some of words in earnest will convince him. The fewer
some of Parsees write Avestan correctly.
4, She in the garden all morning. She medicine for six
months. | long when there was a knock at the door. (Fill in the

blanks with past perfect continuous tense)
A. had being working, have hadn’t being taking, had not been sleeping
B. have had being working, being hadn’t taking, had been not sleeping
C. been working, have hadn’t been taking, had been unsleeping
D. have had working, have had not taking, have had not sleeping
E. had been working, had not been taking, hadn’t been sleeping.

5. You a lot of junk food these days. He therefore he is
never satisfied. (Fill in the blanks with present continuous tense)

are eating, is always complaining

ought to be eating, ought to be always complaining

are being eating, having been always complaining

might been eating, might been always complaining

must been eating, must been always complaining

moowp»
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Identify the correct sentence with correct underlined connecting
words and necessary punctuations.

A.

We had an, unusual teacher hence we mastered the subject. The
job was difficult nevertheless, we enjoyed working on it. He was
pleased; with our performance in fact he was full of praises.

We had an unusual teacher; hence we mastered the subject. The
job was difficult; nevertheless we enjoyed working on it. He was
pleased with our performance; in fact he was full of praises.

We had an unusual teacher hence, we mastered the subject. The
job was difficult nevertheless, we enjoyed working on it. He was
pleased with our performance; in fact he was full of praises.

We had an unusual, teacher hence, we mastered the subject. The
job was difficult nevertheless, we enjoyed working on it. He was
pleased with our performance, in fact he was full of praises.
We had an unusual teacher, hence we mastered the subject. The
job was difficult, nevertheless we enjoyed working on it. He was
pleased with our performance, in fact he was full of praises.

Nothing is more precious than time. She can do no more. None can
run faster than me. (Transform Assertive into Interrogative)

A.

m O O W

Is anything precious than time? Can she do more? Can run he
faster than me?

What is more precious than time? Anything more she can do?
Who can run faster than me?

Is it precious than time? Is there more can she do? Can anyone
run faster than me?

What is more precious than time? What more can she do? Who
can run faster than me?

What as precious as time? What can she do more? Who can run
fastest?

They were carrying the sick player off the room as smoke filled the
room. (Turn into passive voice)

A.
B.
C.
D.

E

The sick player was being carried off the room as the room was
filled with smoke.

The sick player was carried off the room as the room was filled
with smoke.

The sick player was being carried off the room as the room was
filled by smoke.

The sick player was carried off the room as the room was filled by
smoke.

None of the above

“I.’ve got gypsies on my land for two years”, said the farmer, “and
they’ve given nobody any trouble; but now the Council has asked me
to tell them to move on.” (Put into indirect speech)

A.

C.

The farmer told that he’d gypsies on his land for two years and
they’d given nobody any trouble but then Council had asked him
to tell them to move on.

The farmer said that he’d had gypsies on his land for two years
and they’d given nobody any trouble but the Council had asked
him to tell them to move on.

The farmer said that he’d gypsies on his land for two years and
they’d given nobody any trouble but the Council had asked him to
tell them to move on.
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10.

11.

12.

13.

D. The farmer told that he’d had gypsies on his land for two years and
they’d given nobody any trouble but then Council asked him to tell
them to move on.

E. The farmer said that he’d had gypsies on his land for two years
and they’d had given nobody any trouble but then Council asked
him to tell them to move on.

To think of our meeting here! Were we sent into the world simply
to make money? How can men die better than facing fearful odds?
(transform into assertive sentences)

A. It is strange that we meet here. We were not sent into the world
simply to make money. Men can die better than facing fearful odds.
It is strange that we meet here. We were sent into the world simply
to make money. Men cannot die better than facing fearful odds.

It is strange that we should meet here. We were sent into the world
simply to make money. Men can die better than facing fearful odds.
It is strange that we could meet here. We were not sent into the world
simply to make money. Men cannot die better than facing odds.

It is strange that we should meet here. We were not sent into the
world simply to make money. Men cannot die better than facing
fearful odds.

He must not be late, or he will be punished. You must either pay the
bills at once or return the goods. We must eat, or we cannot live.
(Transform the compound sentences into simple sentences)

A. In the event if he is late, he will be punished. Failing prompt
payment, the goods must be returned by you. We must eat for life.
In the event of being late, he will be punished. Failing prompt
payment, the goods must be returned by you. We must eat to live.

If being late, he will be punished. In case if failing prompt payment,
the goods must be returned by you. We must eat to live.

In the event of being late, he would be punished. Failing prompt
payment, the goods must be returned by you. We must eat for living.

If being late, he would be punished. Failing prompt payment, the
goods must be returned by you. We can eat to live.

My aunt lived on ground floor of old house on
River Thames. She was very much afraid of burglars

and always locked up house very carefully before she went to
bed. (insert a, an, or the, if necessary)

m O O W

m O O W

A. the, an, the, the, the, the

B. a, the, the, ----, the, the

C. the, an, the, ----, the, ----

D. ----, an, the, the, the, ----

E. the, the, ----, the, the, the

She was on knees, scrubbing kitchen floor. He was
horrible job; | wouldn’t like to be in shoes.

(insert appropriate determiners, if necessary)

A. her, the, a, ----, his

B. the, her, a, him, ----

C. her, the, ----, ----, his

D. the, the, ----, ----, my

E. her, her, a, ----, the
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14.

15.

16.

17.

Paul goes school
getting ?

I don’t know. We’re not the same class. But he gets
other students all right. He has heaps friends.
(Supply appropriate prepositions/adverbs, wherever necessary)

A. , with in, in, with, of
B. to, with, on, in, on, off
C. for, by, on, in, with, of
D. for, with, in, in, on with, of
E. to, with, on, in, on with, of

you, doesn’t he? How’s his English

If we say “The manager showed us to our room,” we mean
that he led us the door. If we say “He showed

us the room,” we mean that he entered the room us.
(Supply appropriate prepositions/adverbs, wherever necessary)

A. to, , to, with, , with

B. to, , to, , in, with

C. , to, to, , in, with

D. , , to, , , with

E. , in, to, , into, with

Complete these sentences about the weather with a word from the list:

a. rain; b.sky; c.storm; d.show; e.sun

1. The was beating down from a clouded sky.

2. The garden was blanketed with thick

3. Outside, the was absolutely bucketing down.

4. By lunchtime the had clouded cover.

5. We sheltered in a barn to wait for the to blow over.
A. 1-e,2-d,3-a,4-b,5-c

B. 1-e,2-b,3-c,4-d,5-a

C. 1-d,2-b,3-c,4-a,5-e

D. 1-e,2-d,3-b,4-c¢,5-a

E. 1-b,2-c¢,3-d,4-a,5-¢

Complete the phrasal verbs choosing a correct word from the list so
that they match the definition: (across, out, back, along, apart)

Come find

Come separate into pieces
Come become known
Come arrive at a place
Come return

out, back, along, across, apart
apart, along, back, across, out
across, apart, out, along, back
along, out, apart, across, back
along, out, across, apart, back

MOoOW»o s»wh =
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10.

18. Complete the idioms using the names from the list: (Adam, Bob, Jane,
Tom, Jack)

1. They don’t give out awards to just any old , Dick or Harry.
2. To do this job you have to be a of all trades.

3. She was a plain at school who reinvented herself when
she went to drama school.

4. She didn’t know me from , but she was still very helpful.
5. Just add the sounds and special effects and ’s your uncle.
A. 1-Bob, 2-Jack, 3—-Tom, 4-Jane, 5- Adam
B. 1-Tom, 2-Jack, 3-Jane, 4 - Adam, 5-Bob
C. 1-Tom, 2-Jane, 3-Jack, 4—- Adam, 5-Bob
D. 1-Bob, 2-Jack, 3-Jane, 4-Adam, 5-Tom
1-Tom, 2- Adam, 3 -Jane, 4 —Jack, 5-Bob
19. Identify the terms that defines “The act of judging a case, competition,
or argument, or of making a formal decision about something”.
A. Jurisdiction B. Adjudication
C. Legislation D. Decision
E. Adjournment

mt

20. Which of the following words is an antonym of ‘recession’:
A. Triviality B. Headway
C. Brunette D. Blasphemy
E. Profusion

Translate the following passage from Gujarati into English.

ellRdul uau ool UHRAHL YUAULS ectiurg At & Beclis QLRI
¢ AL Ast Yl URACHL ocll. ollg Ao ot AR5 AN u Wy
Halslcll Aol A2 UM Alef AR %ﬁ IAHL% HA B. MR AOldl
ddl Rseall URAsHA oLl Ils wal ARl ldhalHl ual eRdell
ALRRRAAL GeAull Al B.

dl2s dMa £l J2clls ORI URACL §f. A A% HelelRcMl
WP A% 3N ARlet wlA B, BHL AMlotclloll [aMlle] Wl Ud &d.

ollg AHA ER12llotoll IRRLSAA [Qoldallr WSl URL B, A UHA WL
Aol [ACBUt agR%el Yl el Al Mool cll. s BN SEHL
ollg &, dl d> AU (Al «el M2l scll U Al ollod s
Aol YZoll AHLA AA &cll. “alsel ARRANUHL RARUAA WA cleiza
oLl sl 2132 UeUHL Ucll scll A AML Yelloll AH % GGl 6ial §lR el
s URERA Uellell Ass Ul uﬁu{wm Aall M2 Aol A6S AU ot sl dl
A%Ual aglae dewnal M2 Yl stacunl uadl sdl”

wWeonl Grl?, HEl Al UEH UMl claicllol G953l QR WRACHL
ALCRAL WA, &as, WL WA WOl Aol AU Hecdlotl ARRISRA &l
A 8.1, Y 326ML Uartel ol [ uRe(l uale e12ut0t RSER L Aol
WA dsq Usy &d. 8.4 Y A Astell Wenoll Ml A sl
Hlel eldlell AAoj Rl s U SRR Wdlell B2UBHL Aol GeAu

53 B. U Agojiad v Hlel Aol atusl 531 d ugl oIl
cleslon i e,

AOAA YL /
OBTAINED
MARKS

§CL 2L/
TOTAL
MARKS: 15




@euot-A
SECTION - A
1. Modernization and Westernization — Are they identical concepts? Aade dfa /
OBTAINED
. : MARKS
1. UYRS50L U UBHIS0L - 9 Al ol A5 YMlel [Qetctelizdl §?
2. Water shortage in India — Its impact on agricultural production, productivity and on the §C QL /
TOTAL
life of common man. MARKS: 50
2. AR ML WRllofl U — 50 Geuleot, GAULE Sl B UHLA Histcllotl Pctol UR dofl BUUR.
3. Do the factors of the backwardness in an area change quickly? — Illustrate with examples.
3. 9] Sleul (AaciRell uslduRUoll 5100 Bsuell Glectiad B? - GELSAL U -,
@Qewol - B
SECTION -B
4, Can the Tourism industry bring about revolutionary changes in India with reference to
AnAe 241l /
Socio-economic development and the protection of environment? OII\BHI\/;IIP(ED
4. 9 yclldel GElOl W RAHl UHUBs-uEs (Asid W yAldRulell dR&Rlell
deelHl AU URadal clcll ad au Be S
MARKS: 50
5. Is education a meaningful vehicle of reason and change or a mere tool for acquiring
employability skills?
5. 9 Qe A QARAGA U URddet HZe] Wes HitaAH B ¥ Ul AxoueH
ootall HiZell Slacll Ylict scllo] ALUAHIN §7?
6. Towards cleaner cities in India.
6. GUR AL 29 2A3Ao] (AnlaL.
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@ewat - ¢
SECTION - C
The film and the theatre reflect the popular culture in societies — Discuss. aé";%;ﬁ’
MARKS
AR AR 1A A YUAA AsrglA ulAAd 52 8. — 2 [Quatoll 20 2.
G 9LQL /
The scope and limitations of Online shopping. TOTAL
MARKS: 50

Wlol-AlESel (Online) WILElll callu el HaAlELAL
Which is more important — Heredity or upbringing? Why?

AAURUROLA USAR ¥ GBR Ul 9 iR Heccle B? 2l HIR?
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1. Highlight the salient features of Dholavira site of Harappan civilization. Andct oL /
OBTAINED
. MARK
1. 8SWol UeAdletl Latcllal 2uUne{l Alttutat Atal@ls Al el y
§C 90l /
TOTAL
MARKS: 10
2. Examine the importance of Nalanda and Vallabhi as a centre of learning in ancient AOAA YL /
OBTAINED
period. MARKS
2. YRllatstaHl Ratgdon dl3 oitciel Ao detells] Mol AsLAL. sed 9jel /
TOTAL
MARKS: 10
3. The Solanki dynasty is considered as the Golden period in the history of Gujarat Qc‘)"Ban:ISAE'%[l)/
— Discuss. MARKS
3. Adsl A%wda opsAdoll Blasidoll Yariyol aRlaMi wd B, - wl [Qutote(l ge el /
Al 53U MARKS: 10
Nadd QL /
4. Analyse the revolutionary activities of Indians in Europe and other nations. onsnlpgxgn
4. YAU dal Ao AU ellRcll2ell silAst?] ugadle] QAN 5. o
TOTAL
MARKS: 10
5. Review the role played by Western education in the rise of Nationalism in India. ﬁéﬂBaTC;;iE'%[l)/
. MARKS
5. GURAML RAgcllEnll B MR Walll Rad erda e@sioll allen s2A.
§G 910l /
TOTAL
MARKS: 10
6. “The creativity and artistry in the handicraft and craft of Gujarat has made it world
” Eeti . o . nadd QL /
class.” Estimate the appropriateness of the statement describing any three handicrafts OBTAINED
of Gujarat. MARKS
6. “9)%3Aclofl S50 Ul sUAML ]’ UKl S Al WA SAERA A (A2 cellded $ous
8.7 9RAcoll SlEuRl ABl sedsoulell URUA | u [Qeitetell Atelsdlell w2yl 5. MARKS: 10
7. Discuss in detail, with full illustrations “The Gujarati traditional theatre and subsequent ﬂngaTC:IS.LQ[l) /
changes.” MARKS
7. asRActoll URURLILA 201G Aol AUl AMAAR A 351N GeLeW A Y
TOTAL
(Qotctatr Al MARKS: 10
8. “The culture of original trio — Vedvani, Bhuddhavani and Vaishnavvani has been P
percolated in the folk language and devotional songs” — Examine the appropriateness OBTAINED
of the statement. MARKS
. . @ AL/
8. “Qecll, ofrcigll ua dwacugllett Yeotllell AsR AscRl eosellui Gl 8. oo
MARKS: 10

wl @Qutotell sl dul.
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10.

10.

11.

11.

12,

12.

13.

13.

14.

14.

15.

15.

State how and to what extent the modern ideology has influenced the rituals of
traditional Indian culture.

URURLLA el ArsRlell [QRUAUAML Ay (As (QARU(A Yetla 3l Aa
$ecl R6ll ® A weudl.

“The Bhakti Movement of medieval India has prepared the extensive role of the

Reformist Movement” — Discuss.

salrcla Heasiclld el UiEldad YuRicdlel Uildotol cauus ¢fist daR
s 87 - UAL 53,

Highlight the salient features of Indus Valley Civilization.

Ry vlel ucAdtotl st cagl .Ul

Analyse the major causes of low literacy rate in India and suggest some reasonable and
feasible measures to raise the literacy level in India.

GURcHL AlaRellell oflaul ERell Yyl s1RQ1eY (A2ANMBL $A Al GURAHL UL&RAL
el Q1 claal Hizell dlEs A cuasly Guidl Yudl.

Gujarat’s long seacoast and fishing industry can prosper Gujarat economy — Discuss.

afesAcoll ol e3lauBollA A HRA GelIL Aol WA Ayl 531 A3
8 - uAl s2A.

Highlight the state of organic farming in India and government policy regarding it.

llRdHl ¥As Udlell URRAQ aldl AU A QA ARs1R6l AUA olterd uAL 53

Write a critical note on the need and significance of Smart Cities Mission in India.

elRdHl 3Ué fldlo Ralet (Smart Cities Mission)ell AUlclASAL Aol Aol HE<
QA QAusteHs olltl AVl

NnAe dal /
OBTAINED
MARKS

§ QL /
TOTAL
MARKS: 10

Andd 2L /
OBTAINED
MARKS

§ LRl /
TOTAL
MARKS: 10

nnde 9La /
OBTAINED
MARKS

§E LRl /
TOTAL
MARKS: 10

Nnde dal /
OBTAINED
MARKS

G 9LQL /
TOTAL
MARKS: 10

nndd 2Ll /
OBTAINED
MARKS

56 9LQL /
TOTAL
MARKS: 10

Andd 2Ll /
OBTAINED
MARKS

§CL oL /
TOTAL
MARKS: 10

Andd 2L /
OBTAINED
MARKS

§E 2LQL /
TOTAL

MARKS: 10
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1. Evaluate the functioning of the Supreme Court of India as a Guardian of the Constitution. Andct oL /
OBTAINED
1. dulRRlell R8s d¥ ellrdoll Al welddsll s14(l{lef Yerliset 52U, MARKS
§C 90l /
TOTAL
MARKS: 10
2. Though the legislative control over administration is well-defined, the effectiveness of
. . i nndd QL /
the same is neither felt nor observed — Critically evaluate. OBTAINED
MARKS
2. yaldel UR dullls @eial ura@ wdl A cwvauldd slat wdi, Aol
UABBLRG L, ol oll Aojetcllad B ¥ ucclsotil wRUAL atell. - [AAUltHs yeatisat || [ 45 33
3. MARKS: 10
3. Has the 10th Schedule of the Indian Constitution a harmless provision? — Examine. AOA QL /
OBTAINED
. . MARKS
3. 9 etRcla oluRElell 10l YR [atslRsRs Sl B2 - AWl
§C 90l /
TOTAL
MARKS: 10
4. ‘Fiscal Federalism’ is one of the important features of Indian Constitution and the GST
Nnde 9Lal /
Council is the focal point to foster federalism and democracy — Discuss. O“BAL":EED
a. RLrgla deate A Rl Audiedl Ml caglitic As & U . Al siBllet || o5
Adale A AsAER Wlgst Biual U2 As Usceyyl dosldlg B. - AUl 53, yaoTAL
5. Is the Election Commission hampered in performing its role because the Model Code AOAet 4@l /
. OBTAINED
of Conduct does not have a statutory backing? — Evaluate. MARKS
5. AUEL UAR ARAA delRs Andot o fletat 5120, 9 Y2l Ul Asll ¢Ast eteseaul _—
AR Gell Ul B? - Yelisel 2. MASKE 10
6. Right to Information Act has empowered the citizens, and at the same time indirectly Andct oL /
redefined the concept of accountability — Discuss with example. °ﬁl‘é§ﬂ§°
6. HEA U@ s12 URERAUN oadlsla UAsd cettcadl B, d WA % A uRlat ld
|
el dloll Qetlctottal Yot:cauvauldd 531 B. - Gelel U uAl 5. S At
MARKS: 10
7. “Have civil service organizations and Non-governmental organizations, as a source
of grassroot mobilization and an arena for democratic participation become ﬂ(‘)”;‘;;ﬁ;’
Elitist-driven?” — Critically examine in the Indian context with examples. MARKS
7. “9] (1135 UM%l A6l WA (lot-URs13] Al Mot cto(l aulAlledt P
ua sl ew(lerdlell aAelei Bt dly etaadl sl u@d B2 awrcla |f || Torat
deelul GeleWl AR A UALMS Ulatel 532U
nnde 9La /
8. Define statutory bodies and quasi-judicial bodies. Examine the purpose of establishing OI?II-,IL-\?RII':SD
such bodies and bring out the key differences between them.
8. duldls el ud-RURS Uranllell catvaul . 3l Yse(l Al eyl ey
WAl Sl AR Aullell el Yy dgtatcdlal dull. oL
MARKS: 10
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10.

10.

11.
11.

12,

12.

13.

13.

14.

14.

15.

15.

Examine the advantages and disadvantages of the lateral entry into Indian Civil
Services.

elRcla otlotdls AcuMi ULER (lateral) UA2Uatl SIAEL Wl ARFLAEL AU

“e-governance epitomizes debureaucratization though in reality e-governance negates
debureaucratization” — Discuss.

“gS-3lclolodl (ClotallsR2UEl5R0le] Uls B. %A 3, clrdaml S-olctelodt [etolls2udl 500t
WRUAA o5l 8”7 - AAL 3.

“Being indifferent to moral values is necessarily not immorality” — Comment.

“’(As Yl U Gellot 3¢ A ualAsdl «iefl” - Suuell 52,

It is argued that ‘Politics’ and ‘Ethics’ cannot be practised simultaneously. — Give your
opinion.

Al eclldd sl A B 3, AXE Al AU [Alauztall As A cAasR s3 AslAl
odl. - M @y 2.

Differentiate between tolerance and prejudice. What is the way forward to be tolerant
without being prejudiced?

AR L A Ydole el st AU 5. Ydole [Qoll AB™WY clotcllall 1ol 52 B2

Describe human values as (i) subjective and (ii) objective. How are values different
from ethics?

Ulelal HeallA (i) cabectell ua (i) GRal ddl3 addl. yell dldsdiel 3l Ala uaat 82

“A man is a hero not because he is braver than anyone else, but because he is brave for
ten minutes Longer.” (Ralph W. Emerson) — Elucidate the above statement.

Qs Uofrl flyzy Aedl 12 oedl ¥ A oflost scll wslgR B, Ul Al U2 B 3
ed MA2 ay olslgR 8.7 (RLes alesl Suel) - GURell [Qtllolal yelAlelr AHsAl.

NnAe dal /
OBTAINED
MARKS

§ QL /
TOTAL
MARKS: 10

NnAe QL /
OBTAINED
MARKS

§ QL /
TOTAL
MARKS: 10

nnde dLa /
OBTAINED
MARKS

§ QL /
TOTAL
MARKS: 10

nndd 2L /
OBTAINED
MARKS

§E 9LQL /
TOTAL
MARKS: 10

nnde 9Lal /
OBTAINED
MARKS

56 9LQL /
TOTAL
MARKS: 10

Andd 2L /
OBTAINED
MARKS

§E 210l /
TOTAL
MARKS: 10

Nnde dal /
OBTAINED
MARKS

§ LRl /
TOTAL

MARKS: 10
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1. The NITI Aayog has given a new dimension to the process of development planning in Andct oL /
- Di OBTAINED
the country - Discuss. MARKS
1. NITI 30 gl [Qstd vilesetoll ulsalal As oig v (dimension) Y32
ulsy 8 - Al Quete(l a2l s2A. 3/
MARKS: 10
2. Give a brief description of “Make in India” and “Startup India” initiatives of Government A0det e /
of India. OBTAINED
MARKS
2. @R URsLRel “Make in India” el “Startup India” USE (initiatives) AlQLcHl
adidl. §GL24RL/
TOTAL
MARKS: 10
3. To achieve sufficiency in the energy sector non-conventional sources are very important.
. Nnde 2Lal /
- Discuss. OBTAINED
MARKS
3. Gosl Aol elelR acl MR (Olot-uRuRlold Bl Ul % Heclyal 8. - AUl 5.
$G daL /
TOTAL
4. “It is not the size of population, but the quality of human resources does matter, in MARKS: 10
promoting economic development”. Analyse this statement keeping in view India’s Nnde 9L /
population vis-a-vis level of economic development. O,\Bnﬁ,':?
4. A @Astea WNlsel ducl U2 crclld 5€ olld, Uq Hlold A Uote(l
. . §C 310l /
aptetrl Hectydl 87, s [@Astell 2ol detottil elRdoll crdlal tautotul TOTAL
Au{l GURlscl [Qtutete] (Q2ANEL 52 MARKS: 10
5. State the main features of Sustainable Development Vision Document — 2030 of Gujarat aé”Ba_rczlle% d
State. MARKS
5. ARAA AU URAUA Sccduiee [@Anet SlsgRoz - 2030 (Sustainable || [“oeoa
Development Vision Document - 2030)e{l 4ual clel@ls Al Ul L TOTAL
6. “The role of food processing technology and dairy technology is very important in our AOAA 248l /
nation-building” — Discuss. O RE?
6. UURL Aot uledl wiel ulsal dsellsl wua 33 dsellslell oRst wa P
» _ TOTAL
Heccloll B - w @Qutetoll uAl 52U yromaL
7. Critically evaluate the current status of Cyber Crime-related policies in our nation. AOA QL /
OBTAINED
. L. . . MARKS
7. ULURIL EAML ARAGR AUURAY (Cyber Crime) i@ o{llQulell AUt RA[QAS]
(QAUstieHs Yeiset s3A. Y
TOTAL
. . . MARKS: 10
8. Is groundwater continuously depleting because “Groundwater is everybody’s property
and nobody’s responsibility?” — Elaborate. Ande e/
OBTAINED
8. “qpaLelon A £3sell Aetsd B A Sle5ell eltotel ot2ll.” 9 Al 51QIUR GaLeles i MARKS
A waldl U el 8?7 - AR AxAal. —
TOTAL

MARKS: 10
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10.

10.

11.

11.

12.

12.

13.

13.

14.

14.

15.

15.

“Space Science” which was once dubbed as a luxury, has now become a crucial platform
for growth — Explain with example.

“uctslal @Qstiet” 3 % As AHA detcl 2iLd 6d A s [Asta W2 Ralas Hitan
ololl 93] B - grelc URA UHe Al

Should we focus on “Mitigating the Climate Change” or “Adapting to the Changing
Climate”?

9 WU w0y URddel (Climate Change) dalscll GURS tallel Sodlcl $q
AN ¥ wclly URddst (Climate Change) AN AojsClol Ultlg ASA?

The Higher Education Commission of India is to be created under National Education
Policy 2020. How Higher Education Commission of India will contribute towards
re-energizing higher education in India?

Ala Qe «([Q 2020 360 elrcell GRU (el uRNdLe{l Uil sl
Ulclallk B. ellrcde] G [Qatel wRNdL A MlRdell G Qe Yot: [Balla
sal M2 32¢] AdLELel AUUA?

What are the bottlenecks in India’s mission to become world’s semiconductor hub?
What measures should be undertaken to overcome bottlenecks?

(Q#Lell Semiconductor hub (Ut clles GeUlEoia] o) Glotcllall ellRcloll LAAUL 565
ollolcdl AUARAUIU B? AL RN g2 scl M2 sl GULA sl A ?

How Gujarat Sports Policy 2022-2027 will contribute towards promoting sports culture

in Gujarat?

oAl Netge AUrgldal Wlldd srel 12 yxrud Wase oA (Gujarat Sports
Policy) 2022-2027 ¢ 3ld dslA3U &A?

Explain Government of Gujarat’s “Mission School of Excellence Project”.

J%RUcl AURSLRall «“@ 9L WA 2!&8 AKRAAR UlBse” (Mission School of Excellence
Project) Q2 @Qotcdatz 1@l 2.

“The Modernization of Prisons (MoP) Project is very important project for nation.” —
Evaluate the same.

“@Alo] AULYESSWQL (Modernization of Prisons) (MoP) loell A A U2 Wl
Hsccloll 2Aowell B - L [Atutet ASRA.

nadd QL /
OBTAINED
MARKS

§CL 0Ll /
TOTAL
MARKS: 10

nadd QL /
OBTAINED
MARKS

§& QL /
TOTAL
MARKS: 10

nadd QL /
OBTAINED
MARKS

§& QL /
TOTAL
MARKS: 10

NnAe d4al /
OBTAINED
MARKS

G 910l /
TOTAL
MARKS: 10

Andd 2L /
OBTAINED
MARKS

§ QL /
TOTAL
MARKS: 10

Andd 2L /
OBTAINED
MARKS

§ QL /
TOTAL
MARKS: 10

nndd 2Ll /
OBTAINED
MARKS

§E LRl /
TOTAL

MARKS: 10




